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’ 100kN/m#%#8x%| 1.00| 000 ~ 144 121.88 |3mZHBZ 3% -~ — — —| 100kN/m%#E%%| 1.00 [10.97 ~ 15.69 121.88 |3mZHBZ 3% — ~ — — —
ZzhnLst 1.00 | 144 ~ 922 100.00 | Zn1ist | 000 ~ 922 | 254 13.62 zhnLst 1.00 | 500 ~ 10.97 100.00 | #nist | 500 ~ 15.69 | 2.54 13.62
9 100kN/m#%#82x%| 1.00| 0.00 ~ 094 114.08 |3mZHBZ 3% -~ — — —| 100kN/m%#E%%| 1.00 [10.76 ~ 13.53 114.08 |3mZHBZ 3% — ~ — — —
zhnLst 1.00| 094 ~ 872 100.00 | #nist | 000 ~ 8.72| 2.30 12.29 zhnLst 1.00 | 500 ~ 10.76 100.00 | #nist | 500 ~ 13.53 | 2.30 12.29
3 100kN/m%#8 x5 1.00| 0.00 ~ 0.00 100.07 |3m%E{EZ S -~ — — —| 100kN/m%#8%%| 1.00 (1054 ~ 10.55 100.07 |3m%E{BZ S -~ — - -
zhnLst 1.00] 0.00 ~ 7.79 100.00 | #h st | 000 ~ 7.79 | 217 11.59 zhnLst 1.00 | 500 ~ 10.54 100.00 | #h st | 500 ~ 1055 | 2.17 11.59
4 100kN/m#E#BZ % — -~ — —|3m%EEZD -~ — — —| 100kN/ Mm% % % — -~ — —|3m%EEZD -~ — — —
zhnLst 1.00 | 0.00 ~ 448 5586 | 14t | 000 ~ 448 1.93 10.32 ZzhnLst 1.00| 500 ~ 5.00 55.86 | #nkist | 5,00 ~ 500 | 1.93 10.32
100kN/m#&#BZ % ~ IMEHEZD ~ 100kN/m%#8 x5 ~ IMEHEZD ~
ZhLs ~ FhLs ~ ZhLsh ~ FhLs ~
100kN/m#&#BZ % ~ IMEHEZD ~ 100kN/m%#8 x5 ~ IMEHEZD ~
ZhLs ~ FhLs ~ ZhLsh ~ FhLs ~
100kN/m#&E#BZ % ~ IMEHEZD ~ 100kN/m%#8 x5 ~ IMEHEZD ~
ZhLs ~ FhLs ~ ZhLsh ~ FhLs ~
100kN/m#&E#BZ % ~ IMEHEZD ~ 100kN/m%#8 x5 ~ IMEHEZD ~
ZhLs ~ FhLs ~ ZhLs ~ FhLs ~
100kN/m%#BZ % ~ IMEHEZD ~ 100kN/m%#8 x5 ~ IMEHEZD ~
ZhLs ~ FhLs ~ ZhLs ~ FhLs ~
100kN/m%#BZ % ~ IMEHEZD ~ 100kN/m%#8 x5 ~ IMEHEZD ~
ZhLs ~ FhLs ~ ZhLs ~ FhLs ~
100kN/m%#BZ % ~ IMEHEZD ~ 100kN/m%#8 x5 ~ IMEHEZD ~
ZhLsh ~ FhLs ~ ZhLsh ~ FhLs ~
100kN/m%#BZ % ~ IMEHEZD ~ 100kN/m%#8 x5 ~ IMEHEZD ~
ZhLs ~ FhLs ~ ZhLsh ~ FhLs ~
100kN/m#&E#BZ % ~ IMEHEZD ~ 100kN/m%#8 x5 ~ IMEHEZD ~
ZhLs ~ FhLs ~ ZhLs ~ FhLs ~
100kN/m#&#BZ % ~ IMEHEZD ~ 100kN/m#%#8 x5 ~ IMEHEZD ~
ZhLs ~ FhLs ~ ZhLsh ~ FhLs ~
100kN/m#E#BZ % ~ IMEHEZD ~ 100kN/m%#8 x5 ~ IMEHEZD ~
Zh s ~ Fh s ~ ZhLs ~ FhnLs ~
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